1. Read the text and answer the questions.

2. HOw many Brothers does LUCY RBVE T ... e e e e e e e e e e e e meeee e e s aesmme et e e e e e mmmeeee e saessmmrmeeeeeaeas
b. Where is Alex’s Wife fromb ..o ————
. WHETE 05 BEN'S WITE TTOMIT Lot ettt e e st c oot e e s e eae e e se e meme e et e s e et e e e e et e e s
d. How many children does AIEX RAVET ...t e e et ee e e ee e e e ee st e e e ee e memnn e e e nan e e see e
e. How many children does BEn RAWET ...ttt mee e e s eme e e e et m e e e et e eaemen e e e e e smin e e e e enn
. How mMany NiECes A0S LUCY REVET ...ttt ettt ee et e e e e et e et e et e et e ms et e et e et n e e mnn
. How many nephews does LUCY BEBVET .. ettt e e et ek em s eae e s et e s mame e et e s s same e e et e s mnmame e e e s

h. Where is LUucy's BUSBaNa FrOm T (it e et e et et ee e e et et e e ea s em e e ee e s e emsmeee e e sa s nnne
i. Do Lucy's cousins e im ENEIBNAT ..ottt e e e et e e et et e et ek et e et et et e ne e enan

2. Write true (T) or false (F).

a. Lucy was born in 1980. ....ccconiiiiciiennen.

b. Lucy has two sisters and two brothers. ...
c. Alex has been married twice. ....cococeeriicinrnnnn.

d. Alexisagrandad. ....cccooviiiiiinenn.

e. Benicio is Alex’s son. .....ccoooooeeiiennenn.

f. Lucy has two sons. ....ooooeiiiiveeneas

g. Lucy is married to a man from Turkey. .........ccccoveenee.
h. Lucy is the baby of the family. ..............cccccce

P



